CHAPTER 2. LIMITSAND CONTINUITY OF FUNCTIONSZ2.4. LIMITS AT INFINITY, HORIZONTAL ASYMPTOTES

Homework Chapter 2

Q 1. Find the function F graphed in the figure below:
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Q 2. Find the limit, if it exists.
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Q 3. Determine the infinite limits.
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Q5. By using Squeeze theorem, show that
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Q 6. Determine whetherf is contlnuous from the right, or from the left, or neither.
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Q 7. Where are each of the following functions discontinuous?
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Q 8. For what value of the constant k, if possible that will make the function continuous everywhere?
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Q 9. For the function g whose graph is given, state the following.
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Q 10. Find the limits.
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Q 11. Find the horizontal and vertical asymptote of the following functions.
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